DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED TO DO SO
T.B.C. : 35/13/ET

Booklet Sr. No&ﬁ(

TEST BOOKLET
GEOGRAPHY
PAPER 1II

-

Time Allowed : 24 Hours] [Maximum Marks : 150

All questions carry equal marks.

INSTRUCTIONS
1. Write your Roll Number only in the box provided alongside.
Do not write anything else on the Test Booklet.
2. This Test Booklet contains 75 items (questions). Each item comprises four responses

(answers). Choose only one response for each item which you consider the best.

§, After the candidate has read each item in the Test Booklet and decided which of the given
responses is correct or the best, he has to mark the circle containing the letter of the
selected response by blackening it completely with Ball point pen as shown below. H.B.
Pencil should not be used in blackening the circle to indicate responses on the answer
sheet. In the following example, response “C" is so marked :

® ® @ ©

4. Do the encoding carefully as given in the illustrations. While encoding your particulars
or marking the answers on answer sheet, you should blacken the circle corresponding to
the choice in full and no part of the circle should be left unfilled. You may clearly note
that since the answer sheets are to be scored/evaluated on machine, any violation of the
instructions may result in reduction of your marks for which you would yourself be responsible.

5. You have to mark all your responses ONLY on the ANSWER SHEET separately given.
Responses marked on the Test Booklet or in any paper other than the answer sheet shall
not be examined. Use Ball point pen for marking responses. ‘

6. All items carry equal marks. Attempt all items.

Y Before you proceed to mark responses in the Answer Sheet fill in the particulars in the
front portion of the Answer Sheet as per the instructions.

8. After you have completed the test, hand over the OMR Answer-sheet to the
Invigilator.

9. In case of any discrepancy found in English and Hindi Version in this paper, the English

Version may be treated as correct and final.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED TO DO SO

1 P.T.O.



GEOGRAPHY
Paper III
Time Allowed : 2% Hours] [Maximum Marks : 150

Note :— This paper contains Seventy five (75) multiple choice questions. Each

question carries two (2) marks. Attempt All of them.

1 Who gave the “Principle of Uniformitarianism” first time ?
(A) Playfair (B) Lyell
(C) Hutton (D) Strahler

-

2. Which one of the following is not formed by deposition ?

(A) Flood Plain . (B) Barchan
(C) Moraines | (D) Pot holes

3. A mass of resistant rock in a pediplain is known as :
(A) Horn (B) Inselberg
(C) Col (D) Arete

4. Which one of the following is true about Ria landform ?

(A) Through rejuvenation of a stream

(B) Erosion by underground water

(C) A glacial valley encroached upoil by sea

(D) A gently sloping area on the coast made through erosion
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5. Which of the following theories is associated with Kober ?

(A) Thermal contraction theory
(B) Geosynclinal origin theory
(C) Conventional current theory

(D) Plate tectonic theory

boundary ?
Xy Ehitise focl sarthaanks
(B) Formation of rift valley
(C) Fomaﬁon of oceanic ridge
(D) All of the above

7. Which one is corregtly matched ?
(A) Elastic Rebound Theory
(B) Continental Drift Theory
(C) . Thermal Convention Theory

(D) Dynamic Equilibrium Theory

T.B.C. : 35/13/ET-TI[ . 4

Which one of the following features is associated with divergent plate

Isostacy

Earthquake

Mountain building

Plate tectonics
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10.

11.

Which one is responsible for process of weathering ?

(A) Age of the rock (B) Colour of the rock

(C) Density of rock (D) Composition of rock

Falling of atmospherig moisture on the ground is called :

(A) Transpiration (B) Evaporation

(C) Precipitation (D) Evapotranspiration

Which one of the following is true about troposphere ?

(A) Atmospheri;: layer which reflects radio waves

(B) Atmospheric layer in which weather phenomena are most occurred

(C) Atmospheric layer which contains more than half of the atmospheric

ozone
(D) None of the above

Which one of the following English letters is used for denoting Monsoon

Climate ?
(A) Af (B) Am
(C) As (D) Aw

T.B.C. : 35/13/ET-TILC 6
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12, Which one of the followin‘g does ln,ot have Mangrove forest in India ?
(A) Sunderbans (B) Gulf of Khambhat
(C) Godavari river (D) Son river

13. As per ICAR, which is second largest soil of India ?

(A) Entisols (B) Alfisols
(C) Vertisols . (D) Aridisols
14. Which one is not inclu;led in Green Revolution ?
(A) HYV seeds (B) Use of Fertilizers
(C) TIrrigation Facilities (D) Emphasis on Cash cx:ops

15. Golden Quadrilateral of India connects :
(A) Kanyakumari—Srinagar and Rajkot —Silchar
(B) Jammu — Kanyakumari and Porbandar — Silchar
(C) Kanyakumari — Srinagar and Silchar — Porbandar

(D) Kanyakumari — Srinagar and Silchar — Ahmedabad

T.B.C. : 35/13/ET-TZL" . ‘ 8
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16.

17,

18.

19.

Eastern and Western Ghats of India meet at :

(A) Mahadeo Hills (B)

Cardamom Hills

(C) Annamalai Hills . (D) Nilgiri Hills

Boiling and freezing point in Fahrenheit are :

(A) 100° and 0° (B)
(C) 222° and 32° — (D)
Surface temperature is not affected by :
(A) Prevailing winds (B)
(C) Man-made la'ke (D)
Which one is not a form of coral reef ?
(A) Table reef (B)

(C) Ribbon reef (D)

T.B.C. : 35/13/ET-111. 10
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20.

21.

22.

23.

Ultraviolet rays and infrared rays form insolation :

(A) 7% and 45% _ (B) 8% and 44%
(C) 5% and 46% (D) 6% and 43%
Which is the coldest place’in India ?

(A) Rohtang Pass (B) Cherrapunji
(C) Pehalgaon (D) Dras Valley
Major trenches of the world in decending order are :
(A) ‘Tonga, Marvisna, Kuril, Philippine

(B) Mariana, Tonga, Japan, Philippine

(C) dJapan, Tonga, Philippine, Mariana

@) Mariana, Tonga, Japan, Kuril

Which one is incorrect ?

(A) Average temperat:ure of Pacific VOcean is 19.10°C
(B) Average temperature of Indian Ogean is 17°C

(C) Average temperature of Atlantic Ocean is 16.91°C

(D) None of the above

T.B.C. : 35/13/ET=]]L". 12



20.

21.

22.

23.

mewﬁzmﬁmﬁmm%:

(A) 7% 3R 45%

(C) 5% 3T 46%

o v S o w2
(A) Farm =

(C) vugaia

(B) 8% 3R 44%

D) 6% 3R 43%

(B) =gt

D) T =

Fd w9 A fava W TS W € ¢

(A) Sm, Bftarn, Hi@, e

(D) Afer, 2, suH, |/

frq H Q FEE @ T 7

(A) 9iG HErErR @ e aEE 19.10°C 4

(B) feg WoMTR 1 SfEd ATTHH

17°C ®

(C) IEdifes TEErR & SfEd a9EH 16.91°C T

(@) zwEE H ¥ wE T

T.B.C. : 35/13/ET =[]

13

5% b 0



24.  Which one is different from others ?
(A) Kuroshio (B) Opyashio
(C) Alaskan (D) East Australian
25.  Which of the following is correctly matched ?
(A) Polar-high pressure belts = 35° to 45° latitude
(B) Sub-tropical high pressure belts = 25° to 35° latitude
(C) Sub-polar low pressure belts = 45° to 70° latitude
(D) Equatorial low pressure belt = iO" to 25° latitude

26. Balance between incoming solar radiation and outgoing radiation is known

as:
(A) Insolation (B) Terrestrial radiation
(C) Heat budget (D) None of these

27. Rapid urban growth is taking place in :
(A) Developed Countries
(B) Developing Countries
(C) Poorest Countries

(D) None of the above
T.B.C. : 35/13/ET-T[T . 14
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28.

29.

30.

31.

Which one is used by Christaller for study of Central Place Theory ?
(A) Northern UK (B) Southern UK

(C) Northern Germany (D) Southern Germany
Which one is not a paradigm in Geography ?

(A) Determinism (B) Spatial Organisation
(C) Quantitative Revolution (D) Areal Differentiation
The concept of Cho;ology was first given by :

(A) Kant (B) Hettener

(C) Humboldt (D) _Ritter

Regional Geography is most associated with :

(A) South American School of Geography

(B) French School of Geography

(C) Arab School of Geography

(D) All of the above

EB.C. A 85AETSII. - 16
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32.  Yi-Fu Tuan is associated with :
(A) Radical Geography
(B) Humanistic Geography
(C) Feminist Geography
(D) None of the abo-ve B
33.  Conservation of resources refers to :
(A) Stoppage of resource use
(B) Overuse of resources
(C) Irrational use of resources
D) J udicioue use of resources
34. Within flow maps, the thickness of line represents :
- (A) Volume of flow
(B) Direction of flow

(C) Composition of flow

(D) None of the above

T.B.C. : 35/13/ET-[I. 18
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35.  Which is not correct ?
(A) Sketches are not to scale
(B) Maps are drawn as per scale
(C) Maps are different frmh sketches
(D) None of the above
36.  Which is not important element (;f a map ?
(A) Index : (B) Scale
(C) North ];hection | (D) Colour
37.  Quantitative Revolution in Geography is associated with :
(A) 1920’s (B) 1950%s
(C) 1960’s : (D) 1970’s
38. In his model, Von Thunen assumed :
(A) 8 Zones (B) Isolated State

(C) Rail Transport - (D) Various market centres

[.B.C. : 35/13/ET=JIT. 20
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39. The value of Karl Pearson correlation ranges from :
(A) —1to0 (B) O to+1
(C) +1to+2 (D) -1to+1

40. Which technique is most suitable to depict population distribution ?

(A) Choropleth technique (B) Chorochromatic technique.
(C) Dot method (D) None of these
41.  All components-and ir;dividuals in an ecosystem are :
(A) Independent (B) Interdependent
(C) Unrelated (D) Individual

49. Thornthwaite’s classification of climate is based on the :
(A) Annual average temperature and precipitation
(B) Precipitation and seasonal temperature change
(C) Precipitatibn effectiveness

(D) Precipitation effectiveness and temperature efficiency

T.B.C. : 35/13/ET-TIL. 22
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43.

44.

45.

46.

The following linguistic group displays maximum linguistic diversity :
(A) Indo-Aryan (B) Dravidian

(C) Sino-Tibetan (D) All of these
Ecumene refers to :

(A) resource rich region (B) a name of world city
(C) inhabited region (D) uninhabited region
Which one is not a trading block ?

(A) LAFTA | (B) SAFTA

(C) AFTA (D) EFTA

Ladang refers to :

(A) A tribal found is Malaysia

(B) A tribal found in Indonesia

(C) A shifting cultivation in Malaysia

(D) A shifting cultivation in India

T.B.C.: 35/13/ET=[[L. 24
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47.

48.

49.

50.

As per Census of India 2011, the population of India is :
(A) 1,01, 01, 93, 422 (B) 1,11, 01, 93, 433
(C) 1,21, 01, 93, 422 (D) 1, 31,01, 93, 433

Which is most suitable for carrying heavy goods from Finland to India ?

(A) Truck (B) Rail
(C) Ship (D) Aircraft
Ackerman divided the world into...........ccccocee categories on the basis of popula-

tion resource regions.

(A) 2 (B) 3

(€) 4 (D) 5

Maximum countries of the world are under the category of :

(A) High Income Economies

(B) Lower high income economies

(C) Middle income economies

(D) Lower income economies



47.

49.

50.

2011 SIUAT & ITER WRA 1 HA TGS € :
(A) 1,01, 01, 93, 422 (B) 1,11, 01, 93, 433
(C) 1, 21,01, 93, 422 D) 1,31, 01, 93, 433
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51.

52.

53.

54.

The word “Geography” was first used by :

(A) . Aristotle ; | (B.) Herodotus
(C) Eratosthenes ‘ (D)  Hecataeus |
Who is the author of “Anthropogeographic” ?

(A) Ratzel. ' (B) Hettner
(C) Semple | (D) Humboldt
Who is not from German School of Geography ?

(A) Vidal-de-la-Blache (B) Richthofen
(C) .Peschell (D) Penck
British geographers studied thé concept of :

(A) Positivism | (B) Pragmatism

(C) Existentialism . (D) All of these |
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55. Which software is suitable for Raster Image Processing ?
(A) Arc view (B) Map Info
(C) ERDAS image (D) ILWIS
56. Which one is not a satellite sensor ?
(A) PAN | (B) LANDSAT ™
(C) LISS III (D) ILWIS
57. The roots of Socifﬂ Geography are originated from :
(A) Political Geography
(B) Geography of Environment
(C) Urban Geography
(D) Cultural Geography
"'58. Social Geography is concerned with :
(A) Study of social phenomena over space
(B) The Geography of social groups
(C) Space and society

(D) All of the above

S B e = e s T o aNn
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59.

60.

61.

62.

Which of the following.is an example of a functional region ?
(A) Rayalseema region (B) Lower Ganga region
(C) National Capital region (D) None of these
Criteria used to identify formal regions :

(A) -Altitude and Temperature (B) Rainfall and Vegetation
(C) Language e.md Culture (D) All of these

The Rimland concept was given by :

(A) Mackinder (B) Spykman

(C) Mahan D) ‘Seversky

Subject matter of study in Cultural Geography is :

(A) Economic activities

(B) Everyday Geographies

(C) Environmental Conservation

(D) None of the above

T.B.C. : 35/13/ET-T[[ 32
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63. Which one is not an assumption of Losch’s theory ?
(A) Even distribution of population
(B) Demand decreases with an increase in price
(C) Constant supply of goods and services
(D) Lesser emphasis on demand
64. Which one is a white-collar job ?
(A) Vegetable seller (B) Construction worker
(C) Wholesale trader (D) Researcher
65. Which one is not correct for population of India ?
(A) During 2001-2011, the growth rate was 17.64%
(B) . During 2001-2011 the growth rate of urban population was 31.80%
(C) During 2001-2011, the growth rate of rural population was 21.18%

(D) Bihar recorded the highest growth rate in rural population during 2001-

2011.
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63. fo= § § Fw afw & faga &1 A= d wive T8 ¥ ?
(A) FEEEE &1 THEHHE faam
B) T gfs F W9 =T wEd ¥
(C) el a el | o frew wd %
(D) ¥ W FH SR fem

64. fra # ¥ R e Few (W Uwn) wH ¥ 2
(A)Hﬁﬁﬁﬁm' (B) frmfor =i
(C) o = (D) virewa

65. 9RA ® SHEEm & g<d § wEw W AW ¥ 7
(A) 2001-2011 & <A Ifg R 17.64% oI
(B) 2001-2011 & <RM THig sHuE gfs X 31.80% i
(C) 2001-2011 & S 7o sEEn gfe X 21.18% o

D) 9001-2011 F dWF faer =1 i SeREn gfe X waifuE o
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66.

67.

68.

69.

70.

Cultural Geography focuses on :

(A) Aspects of Cultural Landscape

(B) Aspects of Political Sphere

(C) Aspects of Technology and Culture

(D) All of the above

Morphology of Landscape is associated with :

(A) Ratzel (B) Semple
(C) Soja ' (D) Saver

As per 2011 Census, urban population of India is :

(A 27% (B) 29%

(C) 31% (D) 33%

Which ;)ne is not International Airport in India ?

(A) Hyderabad (B) Cochin

(C) Ahmedabad ' (D) Bhopal

A pla@ing region sfxould be delineated on the basis of :

(A) Existing road networks (B) Common language and culture

(C) Homogeneity of environment (D) Common regional problein
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66.

- 67.

68.

69.

70.

aieFfes e &f5a § o

(A) HREfas TvaygE & 98 |

(B) mﬁﬁaa‘aaﬁqaﬁx

(C) aﬂmﬁqaxqéﬁgﬁ%ﬁam

(D) =wga Tl

vy @i sl ol wated & 2

(A) ©SE (B) ¥

(C) ren ' ' (D) W&

R SEIOET 2011 F SHER WRd # THE Seed ¥ o
(A) 27% (B) 29%

(C) 31% (D) 33%

i # FE slEE @ T Ty 2

(A) TETER (B) e

(C) STeHaEd (D) 9T
s wew &1 A fea enERl W e wife ?
(A) THAH TEF W (B) WHF MO a1 HEHIA

(C) YFfaTor &1 GHEYdl (D) 9HFA YRRE GHE
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T

72.

73.

74.

75.

Development may be defined as :
(A) Change through time (B) Growth through time
(C) Progress through time (D) Movement through time

The density of oceanic water is not affected by :

(A) Temperature (B) Salinity

(C) Deposits (D) Direction 'of currents
The salinity of oceanic water is not affected by :

(A) Rate of Evaporation (B) Oceanic currents
(C) Amount of Freshwater (D) Coral Reefs
Elimination of poverty was major goal of :

(A) First and Second Five Year Plans

(B) Second and Fourth Five Year Plans

(C) Fifth and Sixth Five Year Plans

(D) Seventh Five Year Plan

Which one is having highest per capita income in India ?
(A) Tamil Nadu (B) Haryana

(C) West Bengal (D) Delhi
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71. fa== #1 g6 &4 "o & §Fa 8§ ?

(A) THF & WY ufEdd | (B) €94 & €Y IiH

(C) THg & Mg Wifd (D) 999 & @iy Afaeiierdl
72. T W@ OO wdfod W@ OE T

(A) d9EE H (B) w@vral &

) FEwa D) wEwst #@ e |
73. wydl Wa @ wEvE weifad W@ Ed €

(A) aTSIERTo HI T (B) 9HEl "R

(C) W= 9d @l HEAl (D) ware fufa
74. foHg d=ediy dsa 1 e Seyd O« Sl 91 ?

(A) wgm iR fgdta g=adig s (B) fedtm iR =qd dwasta I

(C) vdrgdt iR B3 d=adig s (D) wradl ggaHiE FsEl
75. mﬁmﬁwﬁﬁwﬂammmﬁ%?

(A) dfHeArg (B) &tz

(C) ufygHt &md (D) T
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